APPOLO STUDY CENTRE
TET PAPER I
PART -1

GWHme Cubur@ LBDID SBLISH0
CHILD DEVELOPMENT AND PEDAGOGY

. Blewteniplley uBMiwl ‘(uIT&Hs OBTeTend’  elallILiBeaud)

a. QMBS HTJenld OBTeTemnsd b. @y & sryewi C@Teiensd
C. Ueu&MIenild OBmeiTend d. guwssmeis GsmeTams
“Monarchic Theory” of intelligence is
a. One-factor theory b. Two-factoertheory
c. Multifactor theory d. Group - factor theory
. EHSHHIBOIL T QBHRISWG OHTLT OlBTemr L6
a. QuUTmeNMTSHTILD b. o L evaung
C. BMBFFM6U d. GpSbeysT Hestenio
There is a close affinity between creativity and
a. economy b. physique c. humour d. rigidity
. @(meuflesr &0l Fluilb SlgliLimuiled Siemiowl Gauemt(BLd
a. (pwmid b Geaumgs) c. Baxmeval d. BevGeVTIDSHBID
One’s goal should be based on
a. Effort b. Success c. Failure d. Moral

. HEVOUT(DHES eUTTEFSDW OGTIBI HleN6VHENTE  LIGSHHEUT

a. OL&BH6L b. GamevuiTd c. efldbgein d. egméGuowiT
Three stages of moral development have been categorized by

a. McDougall b. Kohlberg c. Erickson d. Jack Mayer

. Upmee 2 50156060 WHDFF CeTei@ehdHed 6I6Lg

a. wearleu1psd pHTFd b. wenL omBBLD

C. PMHAUMSD LDBHIDFH d. @mams Brssid
Getting happiness by helping others is

a. Emotional maturity b. Sublimation

c. Type of delight d. Type of sympathy



6. 2002-60 LIMITEHLOGIBSHH60 OHTe0IH GUFLILIL L SITFWed FrFe
FLLAHMHSHHIG 14 auUSHSGSU UL DIDOAHHID GLHMBHBEHHGHID BevausF
S LMW Hevalubd, He0alulled FLOSHHIIPD, FLOGUTUILIL|SHETHLD
SlelldbslILL [Heitengl
a. 86aug b. 456ugl C. 93euz) d. 38eugz
Children below 14 years must be given free and compulsory education,
equality and equal opportunities in education. It is according to the
Constitutional amendment of the Parliament in 2002.
a. 86th b. 45th c. 931 d. 38th

7. QHTLITLETEN DIDILIIMIBENGT LOTeRToUTHT HThRISNMTHCo GUILIECHTSHES
QUTGHIILIEHILBE6TS HeWILMBIL © Habd SBLIGHHE0 (Lpens
a. UGS WD b. Qs1esa8 Wmp
C. BWILNM (Lpemm d. Geweddl L pevs
The method which helps to identify the common characteristics by
comparing the relating experience on their own is

a. Deductive method b. Inductive method
c. Heuristic method d. Project method
8. SFIMWIT eTeiTLIGUT a5 @msG Curgl el GUuTLD CFUIHe

SMOWTS  B)(HLILIGI606M6L.

a. e ufled GemerleiT

b. el GuuTLD efliugled GpdiDesHsHameno GBI 6T

C. ol (BUUTL $HmS LSHIDIOWITS  l6eMUILIeuT

d. 9155 Hpww GCaTei el

Homework need not be burden, if only the teacher

a. has love and affection b. is flexible in assigning work

c. is innovative in assigning workd. possesses extraordinary talents

9. @allius alembuy UeemBUID @ LIgdHd @ellll UemIL HFHe GuuwenyLl
LRSHSHaL6T Feohdb@ BTaled BT 2ammBieg)
a. FLOBTEV DYEHHHMEVUL|BISHSHLD
b. Gamed SuH®E BHeameLW|BIGHHID
C. UMHam Susbsbhlensd Hleneouw|BIshaHLd
d. GamebOUT[HeT QbdE BHemeOU|BISHHID
Salivation of some people while looking at the name of their favourite
sweet on the name board of sweet stall itself is
a. Simultaneous conditioning b. Verbal conditioning



10.

11.

12.
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c. Discriminating conditioning d. Semantic conditioning

QR aGUUmBUIGD 6heH DiMeHGHd SBBISHEG meHEGHaMSSIUL BHF
QFweoLIHBBTH6T 6leTLH DHeIl a1 CUHLDeTey GBHTHOSHTL T CETemIHeTendl
o1g1?

a. HBBH FHMMIBLD emeHHL OLM(HeTH6T LG B)(HEHH60

b. wrewiauTsengl Haaled WWaTHH LMBhHEHIGNET NUbbF Fbd)

C. LmenieuTsemenL Gui GU(bLeTe STEIILIBL HeOBBTEH DIGUTHETSHI
Bxremeusm6iT

d. wremauTseng CHemeusemen SANULT HelG 2 WITHH(HIHH60
Which of the following is directly related to how much they are
motivated towards learning in the classroom activity?

a. Presence of more potentiality which induce learning

b. Presence of innate potentiality in student’s unconscious mind
c. Unfulfilled needs of the students

d. Teacher realises the need of the students

Bzwsgle GFweuT LD BJ5H5 AWSSSHMSUD SLBLLGHSHID
ammTELomest

a. S| Mered e b. mrir-ou Meredler

C. MHITHF 6o d. umgr HTi@Lomest

The hormone which controls the function of heart and blood pressure is
a. adrenaline b: noradrenaline

c. thyroxine d. parathormone

SLPSHHEWILUBMIET 61hdH 6Bl HeWIFL THL LTTUNHS OCBTeni(y FhHeEGL
LI(HeUSHSHIe0  SHTewILILI[HaISH606m607

a. QUL BT IBTHSHEIMLD LiTHe0

b. QurmL seflar L LML Emen @B FLOUISHH 6O 2 _aITH6e0

C. 2 ulgmm OumpLsmen o ull(hHeTenHTes LTalldgHe0

d. eBuBiEmer Senaler SglimLuled WHLILIHH60

Which one of the following is not found in concrete operational stage?
a. Understanding conservation concept

b. Decentering

c. Animism

d. Judging crime in quantity

SIPHHEWILUBMIET DFFHSL UBMPw FRwmer FmBml 6157
a. UL’ (B GFweduL HITewIBLD b. o Lepovdmgd LTHHHTH



14.

15.

16.

17.

C. F&FHW DleMbIHBS d. elifliiyewiienal gBLBHBTH
Which of the following is the correct statement of fear?

a. Induces to plan and execute b. Doesn’t affect the health
c. Given energy d. Doesn’t create awareness

Opeimensoll igshars wmfel, 0Hamamevd FTibhe DlenereuenJuld ©CleumidgHe0
a. FMTGILIGwT6NRTLD b. 2 U @uw-Oaeld@iy o amimadel

C. @UHLIQ GUTTIGILIEUT6TLD d. 2_ewifey &LoBleneouieiento

As Yazhini dislikes Thendral, she shows aversion towards Thendral’s
associates. This is

a. Prejudice b. Inner-outer group feeling

c. Stereotype d. Emotional imbalance

afldgeler Foupsd OHTLTUS6T S@mmiiug” HiGer wBUl (B GFweoTBmILD LIewTLIed
CFeLTEHG SIS

a. ueierl b. euamé GGHLUD C. [HEWILITEHET d. smu
According to Erickson social relation is responsible for initiation.
a. school b. basic family c. friend d. mother

CFLBMNBSH HITEWIL ISHGLD, CFLIBMS HVHISNSHGWD enL Guiwimer EenemiliL]
AUNIILBSHD, CFWLMBENS HITEMIL 60

a. QuBMas HILVMIBIL 651 CILITSHIMLOLIU{HSHH0 Gerew(BLD

b. QuBmas SHTMWILIGHE (IpaT DleMbalUL Gauewi(BLD

C. BuBmasH HTEWIL D60 HHITH BDHHH GCeuewr(hLd

d. QuBmaH HI60RIBEHHGLILNGET . B(HHH Gouewi(hLd

For strengthening the connection between the CS and the CR, the CS must
a. generalize to the UR b. Proceed to the US

c. be identical to US d. be followed by the UR

SlbwTemel GsL smoed OLT(hHeneT 61(hdHSHTe0 DIDTeYdhEG GHTUD 6u(HLD
GIRILSTEL DN OCFULIWLISInLTH 6160 GHLHENS 6I6NIIDICNIGF]

a. BEOL (PenB GULPSHEHID B6060TSH [Hlenev

b. pL(pems auPSGHHG LIHmBUl Hlenev

C. BEOL(PMB aUPHE [Hlened

d. BpOL(pmB PSGHHEG (PhHendHul eV

A child doesn’t take any article without the knowledge of mother, since
she may get angry. It is

a. Non-conventional stage b. Post-conventional stage
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19.

20.

21.

22.

c. Conventional stage d. Pre-conventional stage

SANBUT Sehenoen! GbUBHSHIUHD (PSHSW UG USIILSTS HMBSHTEV
o emallwied DINSIEhTH6T H(HBHIMSDI

a. HmeT Fa b. miewiewiey mey

C. AOUFT e d. Quss mFey

Modern psychologists feel that is important in improving
individual’s personality.

a. Competency Quotient b. Intelligence Quotient

c. Emotional Quotient d. Moral Quotient

(WhmaW Ssleneuud, SBOUTH BB HHGHHISIHmMUD CGHTLTLIGSHS
9 (HeaumshsLILheUS

a. DG GUENJLIL LD b. QuTBSHH elendbsrii b

c. OamLt elendsiiuLd d. s®mHEH alenhsULL LD

The map / chart formed by relating the previous knowledge with the
present knowledge is

a. Mind map b. Overlapping chart
c. Flow chart d. Concept map
ZPD eaiugl

a. Zeal of Primary Development b. Zone of Proximal Development
c. Zone of Personal Development d.Zone of Power Department
ZPD means

a. Zeal of Primary Development b. Zone of Proximal Development
c. Zone of Personal Development d. Zone of Power Department

WSHHTIen! JorvCHTH o (Heurdhaiul L 1guIed oWl lemailL
LweTL(BSIBSI

a. HMBHHGS b. syememniD C. LDGILILITGITENLD d. syeud
The inventory designed by Mutharani Rastogi helps to measure

a. Self concept  b. Personality  c. Attitude d. Interest

BTD OHTLAHSH @ ummeiler W alemosEhsHE Ged SHeleTD
CFIHS WS

a.6 b.7 c.9 d. 10

We cannot pay attention to an object continuously more than
seconds.
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24.
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a.6 b.7 c.9 d. 10

B BLOWHCr CHTAIBID HebFFomuid 6w, DHemenn BT (PG
SIBIHHIGTGENTID 6THIBI SIMLWITETD SHTeRILIG)

a. 1L (HewrTaHeL b. 5. (G& GamTemiTHe0

c. Wenmule)] d. Peneraled(hsHHe0
Identification of an incident, that has happened earlier is
a. Recognition b. Recall

c. Review d. Retention

UPOLMP&HE GUTHET Fmed cpevld GFTHHSLILBMIG

a. QuTEHIFBenLD b. Bewerey

C. YSBHHMeT d. miewieninsiey

Giving meaning to the proverb is used to measure

a. Aptitude b. Memory c. Creativity d. Intelligence

NHHHIHBET OGHBHOUMNLLD STEOTLILILTSH LI6woTLY

a. UpT snpleuensd o L lguimsd  eLikidOIBTeiTeThEHe0

b. UpT Fmpieumsd b SeueilLT

c. g8x@mid @@ UpsFsmerenwll UBK HbHHHH BTN (HEHH60
d. elffbsemen GamemtighehdHe0

Characteristic which is'not found in creative persons is

a. immediately accept others sayings

b. keenly observe others talk

c. often thinking about any one problem

d. to have divergent thinking

‘LWIBFAUTED allewenuidsdnigul BIIHSTLOTRICHTT BHLHS IBBEL HBW6L’ 6levTd
nmlwleui

a. SHTewienl &b b. &Genair c. o Heiges d. seiler-Guier G
“Learning is the permanent change in behaviour which is the result of
training”. is said by

a. Thorndike b. Glacer

c. Atkinson d. Kavin-Padon Major

SULEFS LWIeOG
a. OB HOOWBIHS BHBMBEL b. wwem HeunibsBmed
c. FLL &BB6D d. o Lamn dfl aufésnned
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31.
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33.

34.

Learning typewriting is

a. conditioned learning b. trial and error learning
c. programmed learning d. insight learning
Caweouh S5s HeneouwlBishasLd ot GSBIUILLILGEBS
a. R-aens H@Hmeou|BIHaHI0 b. S-auensd S SHBHMEOUBISHDHLD
C. A-aunad  SLEHHMEOLBIHSHLD d. B-ouens o1 saHeneou|npishaHLD
Operant conditioning is also known as
a. R-type conditioning b. S-type conditioning
c. A-type conditioning d. B-type conditioning
MFHBGT UL LIPSIWGUT. (PH6T (pHelled ervdal LT UL (1pBuGlD Gurg
gTeme0 @rHHGeoGus Glgeen (LPWedeuH . SHBMEL LOMHBBLD.
a. Gpyig b. eglmoemns C. @i d. ued
A person who knows to ride cycle, initially prefers-the side part of the
road only after he leant to ride scooter. Itis transfer of learning.
a. positive b. negative C. zero d. partial
sMBHHHVID Dslalwiellend LUIRTLIGSHBLILIGS AUmS OLITHIMLDS
BH(HHDIHHGIT.
a. umLGUITHET b. Seneuwr C. BHSHSHUI60 d. déaseomer
Type of concept formation used in Maths and Science subjects is
a. Concrete b. Conjunctive c. Abstract d. Complex

uggh — II

SLOWD

omBs &gl umbdGum? sulCmm? erer allea|eug

a. opalerT b. smwelem c. gpfwrelem  d. GQamenevelem
uewILll QuUuIT Lewr &S allgsel

a. mbal b. om C. g d. e’ ®

FBREI6L MSTID GHMBHAH UbhdH CFTed
a. glewrenemr b. eauemenuied C. b3 d. emuwiest

OeuemTLTale T
a. GlelTered b. Garied C. OIB6IGD d. grmised



35. GbU  alendhE UL $HS GHDBIBISTOIWLBIST60 66iIm.

a. umydsrFer b, umygwim C. GIHT d. euremismae
36. alletm, allenL 6UENBHEIT
a.b, 3 b.6,8 c.4,6 d.4,3
37. GWHmBHUIET LSHGTCPRIBID SHmiSH6eie0 HEHLDaIg) LI(HeULDTGLD
a. (PHPID b. eumenaLl C. O|bLed d. Qsmidseny

38. (pgIGeueii3 HTeVLD 6I6OTLIGI

a. gpeuenf, LglLmd] b. dgFHewy, emeusmd

C. oiafl, Sil9 d. ;iud), arsHans
39.Blewy L 6L 6T&ILIGI

a. Geu gl b. syHms C. ‘OBIFd d. o flenen
40. GFa&pmT CLITHLOTET O|(HerUISHI

a. Fmelenenuim_ed LJJmeurbd b. Seugrenid

c. Guiiwygmewrd d. seoygmemniid

41. H(HUTFSHMSH DYEIBHVSHFH60 GLOmY CLIULITSHSH6UT

a. gmireveroumiGuey b. 9i060&HFTewIL T
c. edweommiT@Lm d. 29.up, Gumdi
42. UBSFHmenisH6l GILOTHESLD
a. ueielyewi® b. e ¢ C. UHFH d. mba
43. 2 suemoenuwld Pl QUmmenenl OB euliLIg) Slenll LS LD.
a. sBEHBILCUBB o6 b. nfig Guomseveni
C. Qumme LlesTeu(HHB emELUIGmT d. 2_suenipwienf

44. QeuemTLTNGET  6U6NEHEH6NT
a. ol b. e’ ® C. Mbg d. mreig

45.Camgl L. L Hme HITLIL|s.
Gxadlipmilent SuiBCUWIT
a. 9|mHeETeLOTHHBHeuT b. o $5108amipliLicbeveuT
c. Qpuieus GahdlpmT d. OHTewr T LiyeyeumT

46. semilelwlenl SHHend 6161 DIeNLPSHSLILIGLIGUT
a. LGemerd LITEroas6v b. amiteverd uMIGLER
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52.

53.

54.

55.
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c. LbGuierT 6§ d. emnireunitp

wmoflbsl LeoeuflGeo sbLienedtl Gumed 6160TmI  LIMQUIGUT

a. uasGhd) b. Hm.al.a.

C. umyglwimit d. umydsnae

ehmWIBMIL O(HHSHI eeMCuUBDI geflall &aniguisuBenms oT6UT M| LIGWTEmL &
ST GMBILILI (BHeiTermeotT

a. [breiLiest b. Gasmeim e c. aflewnbesr d. aligGeueieriSesr
Sleientev DIDCUSHHTT LImbhg LoTHleVLD

a. Jmliguib b. &mrms c. Uammi d. Gayerm
SIbBUSHBTHHEG BHHUW DTS eupmESW all(H

a. USIOLLe6H b. ugiomf C. ‘Unpgy et d. ugoaliyangest
CaThaHsLILL Beiten CFTeLIHEG BevdbHemid. GMBILILSH H(Hdb:

‘Qumpea’

a. almINHOHTMD b. elenerCuiFaid

c. QUuOFFFD d., elumGsrer alenenwBm algs

® UBID 6TIB HLODFOIFTED a1 OFTeLeVIeNT SlgliLienL WTHL LInbheHal
A 2_aG b. o _uiey C. 2_60a)] d. 2 _engl
H(HEBESGMB6IT OeUETILITHHETED LG  HITEOTGLD

a. FbdHuwied b+ @meir c. CGrilens d. Pevguiens

geoTgHlenwl @uwimplulelir
a. urydwnitb. ufGweopsT  ¢. BewlGogTailwiT d. Gzaapri

Qurgl CmeE bhHHHHT (B

a. emLIIesT b. upeneu LBHSHH C. [Blevd d. sybswTe
LIy &) SHITE 6ot 6160 SIEMLPSHBLILIBHSIWITIT

a. s salehT b. Bxdws salehT

C. 2 _aumid HalEhiT d. salwysai

QumTmHeTBHTeT OLOTEHSHLD UM SLILI(HLD

a. el b. mba C. oI’ (® d. preng

LOGOTOUT  GUEITRIGHLD  SHEMEVEUIT



a. alipGevueierl b. L6  c. QupeuTeID d. o BBsH8HTIpeT

59. GigmenL U S LILI(BHLD
a. eI b. ussl C. Wbl d. eymi
60. @TLOTUIEHT  SHT6UIL MIZEIT
a. BIeG b. gu C. QO d. mba
PART - III
ENGLISH

61.

62.

63.

64.

65.

66.

67.

Which among the following is not associated with a “word’?
a. syntax b. pronunciation C. synonym d. syllable

Which of the following sets of words has more than one category of words in it?
a. walk, swim, jump, moan b. happy, power, slow, weak
c. determined, tall, strong, clean d{ beauty, sight, honesty, intelligence

When you read something quickly in order to find the main points you call it
a. skimming b. scanning

c. intensive reading d. extensive reading

Pick out the correct pronunciation of the word italicized in the following sentence
The sport has a strict code of conduct.

The number of syllables in the word ‘beautiful” is
a. four b. two c. five d. three

Replace the italicized word in the following sentence with the correct phrase chosen
from the options

I am not going to folerate their smoking any longer

a. put across b. put up with c.putout  d. putoff

Pick out the word that can replace the italicized phrase in the sentence given below
She went for him with a cane
a. approached b. troubled c. lifted d. attacked



68. A piece of dialogue has been reported as. He said that he’d come later. What would be
the exchange used in the dialogue?
a. I may come later b. I come later
c. I'll come later d. I came later

(Q. Nos. 69 t 78)
Read the passage given below and choose the best answer for each of the questions
that follow

What writers struggle to express through numerous columns, the cartoonin a
pointed one - liner. Little wonder then, that the first thing most of us like to see when
we pick up a newspaper is the cartoon. Simple though it may seem, making a cartoon
is an art that requires a combination of hard work, training and a good sense of
humour. Cartoonists say that the cartoons that make s laugh the most are in fact the
cartoons that are hardest to make. Even celebrated cartoonists like R. K. Laxman
admit that making a cartoon is not a piece of cake. Laxman.says he has to wait for
over six hours, which includes spending a lot of time scanning newspapers and
television channels before any idea strikes him.

How does one become a cartoonist? There are few colleges or schools for
cartoonists. Established cartoonists are of the view that no institute can teach you to
make a CARTOON. While basics; like drawing and sketching can be learnt in an art
college, these alone will notmake a good cartoonist.

69. What is the typical quality of a cartoon?
a. Elaborateness b. Vivid details
c. Sharpness d. simplicity

70. The greatest difficulty cartoonists face is
a. getting an idea b. giving a caption
c. publishing d. sketching

71. What are considered as the basic qualities to become a good cartoonist?
a. training and hard work b. creativity and sense of homour
c. hard work and humour d. art schools and colleges

72. Who are the ones who hold the view that no institute can teach you make a cartoon?
a. all cartoonists b. all well known cartoonists
c. most of the cartoonists d. every cartoonist



73.

74.

75.

76.

77.

78.

The major source of ideas for a cartoonist is

a. newspapers b. television c. history d. media
‘Little wonder’ means

a. some wonder b. full of wonder

c. no wonder d. a little wonder

Pick out the word from the passage that means, ‘two or more things joined together to
form a single unit’.

a. numerous b. celebrated

c. admit d. combination

Find out the odd word from the ones given below
a. struggle b. say C. sense d. simple

Pick out the sentence that is similar in meaning to, “There are few colleges or schools
for cartoonists”.

a. Few colleges or schools are there for'cartoonists

b. Colleges or schools are few there for cartoonists

c. Few are there for cartoonists colleges or schools

d. Few cartoonists are there. in colleges or schools

Identify the sentence similar in meaning to, “ These alone will not make a good
cartoonist”

a. A good cartoonist alone will not be made by these

b. A good cartoonist will not be made by these alone

c. A good cartoonist is made by these

d. A good cartoonist is not made alone by these

(Q. Nos. 79 to 85)

Fill in the blanks by choosing the right options given along with each questions

79. Her father won’t come this time ?
a. will she b. won’t she c.won't he d. will he
80. They play cricket every Sunday ?

a. aren’t they b. don’t they c. are they d. didn’t they



81.

82.

83.

84.

85.

86.

87.

88.

89.

I him yesterday
a. met b. meets c. had met d. have been meeting
A notice was exhibited the notice board
a.in b. at c.on d. with
She has been waiting for him two hours
a. since b. for c. by d. of
A postman is one delivers us letters
a. which b. what c. who d. where
Before the bell rang the students the hall
a. had left b. leave c. will leave d. are leaving

Which of the following options would correetly fill in the blank seen in the given
dialogue?

Teacher : Hello, Smitha! How are You?

Smitha : fine, ma’m thank you.

Teacher: ?

Smitha : [ was not well

a. Where were you last week? b. Where did you last week?

c. Where was you last week? d. Where do you last week?
The sentence, “Take a left turn and go straight” is an expression for

a. making a request b. seeking permission

c. giving an advice d. giving direction

Which of the following is the best instruction for asking children to bring their
textbook everyday?

a. You must bring your textbook everyday

b. Please bring your textbook everyday

¢. You should bring your textbooks everyday

d. You should not come to class without textbook

“No, Murali doesn’t want to leave early,” is the answer to the question
a. Did Murali want to leave early
b. Do Murali want to leave early?



c. Does Murali want to leave early?
d. Has Murali wanted to leave early?

90. Suppose you want to teach the word ‘Pat’. Which one of the following is the easiest
way to teach it?
a. Drawing the picture of someone patting
b. Telling a story in which the word “pat’ is used
c. Using the word “pat’ in a sentence
d. Showing the action of ‘patting’

uggd - IV
BT HLD

91. Hsaifld Cxpitemeu CBETHHHLIBE opFfluifen BBIHF ClFuwsd
a. wHIGUET eflHGD (PeHB WBMILD LS LIGILICTT  EUEM]TUIED]T
b. Gaiey wHICUHIHTET LGHSTUIeY; alendsb
C. (WY HmeT GILIMISHEL
d. elewLssmen wHIIG
The final activity for the teacher after administering the achievement test
is
a. Preparation of scoring key and marking scheme
b. Analysis, interpretation of test scores
c. Drawing conclusions
d. Evaluation of answer scripts

92. UTLSHFH L He0FH FHIIBH Dl UNeD SIEDIGD (PenBenU! 2 (HEUTHSILIGUT

a. ].F. Gemuim’ b. GQueirgfier S. LeerHid

c. Gugmdfwit wmfses d. RH. Gzeu

Evaluation - based approach to Lesson Planning was developed by
a. J.F. Herbert b. Benjamin S. Bloom

c. Prof. Morrison d. R.H. Dave

93. 25 eremidpeilenr gymafl 15. wployuieler Gurgl 15 e6ip elewl - 15 6IQIBI HAIBTSH
GBSSIULG ol L&l eerd HewiBLIgSSILILL ). eteni@eu Fflwimenr Fyma]



a.13.8 b.16.2 c.15 d. 154
The average of 25 values is 15. On verification it was found that one
reading was wrongly recorded as (-15) instead of (15). The correct mean is

a.13.8 b.16.2 c.15 d. 154
94. F10L1SS  (PGaTemTLd Caxmemidmall CUTBISHH CoTewid FOFFT
2 66N
a. 90’ b. 60° c. 120° d. 180°
An equilateral triangle will have rotational symmetry (angle of rotation)
through
a. 90’ b. 60° c. 120° d. 180°

95.@h AABC &0 6ai&iugl mLA &gl mZB ol 180°. oifsb. BC & Bl G
Gurgl gBuUB GeuellaGamanid 116° 6lafled mLA=
a. 90° b. 67° c.49° d. 98°
In triangle ABC, the measure of ZA is greater then #B by 180°. If the
exterior angle formed when BCis produced is 116°, then 24 is
a. 90° b. 67° c. 49° d. 98°

96. @ (LpSHBBHTEWIHHT LigbBHmIG6T a, b, ¢ slafled

a.a-b>c b.b-a>c c.c>a+b d.b<c+a
If a, b, c are the sides of a triangle then
a.a-b>c b.b-a>c c.c>a+b d.b<c+a

97. @ Uaiaisgled 0am@Huiled, ugGaHulad eemi I mé gnl G Curg oige
LOGILIL % ®6x Bumed OFHTGHHuled, LIGHUWIID elewl 83 ;&b HPHGOUTSHI

e AL % srafled cpev Lladiennd

a.

-
< | wn

| N
AW

b. 3 C.
5



If one is added to the numerator and the denominator of a fraction, then it

is equal to % If one is subtracted from numerator and denominator, then

it is equal to % The original fraction is

a. b. C.
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98. Byewi(h eTewIgkeT 3 : 4 elaIB AlBHBHHHeL © aitener. L5.8.0. B.60UM.D. aler
OUBEG OTens 10800, oailled DB FnbH6e0
a. 201 b. 240 c.225 d. 180
Two numbers are in the ratio of 3 : 4. The product of their LCM and GCD
is 10800. Their sum is

a. 201 b. 240 c.225 d. 180

99. AABC aiesiuesr APQR  (pempBui B, Q-60 QFmiBsmemnt(ipenl_ul QFmiBamiment
(pdHCaremmiber. @mig AB =PQ;BC = QR safled Sipdbmment et iLiemrLiesr
CPEULD Slem6eU FiTeu FLOD?

a. SSS b./RHS c. SAS d. ASA

ABC and PQR are tworight angled triangles with right angle at B and Q
respectively. If AB=PQ; BC="QR then under which of the following
properties are they congruent?

a. SSS b. RHS c. SAS d. ASA

100. 8 Qumpl sefler S G alewev 10 QUTHL Heilem alIBGSGID aleNevdE FLDID
oT6dlle0 Ol FHATHLD
a. 10 b. 20 c.15 d. 25
The cost price of 8 articles is equal to the selling price of 10 articles. Then

the percentage of loss is
a. 10 b. 20 c. 15 d.25

101, (4.59><1.8+3.6+5.461‘> é LD - éj & WAL

a. 4.685 b. 2.695 c.3.259 d. 2.596



(4.59x1.8+3.6+5.40f é : éj is

a. 4.685 b. 2.695 c.3.259 d. 2.596

102. &6 OCaTHaHaLIUL (BeiTenemalsaisd 601 6U(HLLD DIeV6OTHH! 61HI7

a. 1604 b. 1800 c. 2000 d. 2008
Which of the following is not a leap year?
a. 1604 b. 1800 c. 2000 d. 2008

103. @ FHTHIE LSS emenel 4 OF.15 HSIUGSHI M0 DiHest LTI 60
F.05.0 9HaNsdpg. oIILYLWEID LUSSHIET DieTe] DISHBLILGHHINSBE
(LpesrL
a. 6.2 Gg.5 b. 12 Q&.6 c. 5.5, 05.16 d. 15 G&.8
If the side of a square is increased by 4 cm, the area'increases by 60 sq cm.
The side of the square before increasing is

a.6.2cm b.12 cm c.5.5 cm d.15cm

104. 1197215a6 eietiB etewt 1160 Hullerind euGUL a &G
CaTHHHLILL Hamgul S GmBHS LS| 6T6oT60T?
a. 1l b. 3 c.2 d.5
What least value must be given to a so that the number 1197215a6 is
exactly divisible by11?
a. 1l b.3 c.2 d.5

105. meier LeTeflwellen Hhensd

a. RA. Yegt b. GyBen QLGOS L 610
c. gBymaybzmererd d. WsTEsTyerd

Father of Modern Statistics is

a. R.A. Fisher b. Rene Descartes

c. Eratosthanes d. Pythagoras

106. 108 & ebs Fpflwl eTewTeNITeL OLIHBS (PINHHRID SLSLD?
a.2 b.3 c.4 d.5



Which is the least number when multiplied by 108 gives a perfect cube?
a.2 b.3 c. 4 d.5

107. Slevgaipddl Se0evT aUMILL 2 LISJHHMBE 2 SHTJ6uILD

a. b LOMSD b. ugtuHSILL L 2 uifl
C. QUEMJLIL LD d. ugdey mHTLT

An example for non-projected graphic aid is

a. Magnetic board b. Specimen

c. Chart d. Tape recorder

108. wrewialTHeMer CHemeudb@GHd, HMMDHGD GHBeUTHl LITL SH(HHHIHHM6T
arerllemulel(pbd HYOTHHMBE DB(PHD CFUISH0. @BIG UTLHHIL L
SIMWLILTGT OIS (Lpenm
a. H1dd (1peB b. wBam&HHI (LHenm
C. spBd wBHID mLWCHTHEG (LPemD d. sevlise FMiThs (WHeOX
Subject matter is introduced in the increasing order of difficulty in
accordance with the needs and capacity of the students. Here the
approach of curriculum organization is
a. Logical approach b. Psychological approach
c. Spiral and coneentric approach d.Topical approach

109. 4060 15% ereiugl @ etewienfledr 25% ol 2 SFHBID ei@iled DG

a.16 b. 40 c. 55 d. 60
15% of 40 is 2 more than 25% of a number. The number is
a. 16 b. 40 c. 55 d. 60
X X X X .
110. 75053 T DL Hlen6L 5 616160 X 6T6ILIG)
a.25 b. 20 c.15 d. 10
The median of the scores % %,x % % is 5. Then x is

a.25 b. 20 c.15 d. 10

111, 7 aep Qupbsails Casmameuuler SIBSHS



a.’7 b. x c.1 d.0
The degree of algebraic expression 7 is
a.7 b. x c.1 d.0

112. a+b=7wBgba-b=3 aeled ab & wH]

a. 10 b. 40 c.4 d.21
If a+b=7and a-b =3, then the value of ab is
a. 10 b. 40 c.4 d. 21

113. soflssdev @pmenfl 100% wHiCUemE6T GUBMIeTemTT. @rTenienuw el
Bree 20% GseuTs GQuBEIeTeNTer. Srmeramal ol UTFSH 20% DHBLOTE
QuBEIeTeNT6. 6Tedlled LTI OUMMB Lo IGILIGNTHENT

a. 100 b. 120 c. 96 d. 84

Rani got hundred per cent marks in Maths. Raju got 20% less than Rani.
Bharat got 20% more than Raju. Marks scored by Bharat is

a. 100 b. 120 .96 d. 84

114.  @meuT e euTGemedll Gl enul SiFHeT alBumer alleneoulled LOL MmIZleL
UTh& ms alBumer alencvenul el 8ep DIHSUILGSHSH IBBIT. 616160
ST OUBB G0N &SHAIHLD
a.8 b. 10 c.18 d. 20
A person purchased a radio at th of its selling price and sold it at 8% more
than its selling price. Then his gain per cent is

a. 8 b. 10 c. 18 d. 20

115. @b LDTEwIEUET HeulSHalLIe) LiSHHBHHIBMENT LIgHHe0, SHewnlHLl LHTHemern
SHTHH60, HewldH aMeHHEHHG 6o, GBISHEG aUPH6eNe0 HTe] SHTewe0 -
Bemeusel GHBIBGHWD Hmer
a. Garmplenev b. aupdsid c. &y d. syreubd
The pupil reads literature on mathematics, solves mathematical puzzles,
gives short cuts for solving problems - these are the specifications of the
objective
a. Attitude b. Habit c. value d. Interest



116. @@ eIl Har sBpenalBd DTHIBSD 2 6fen albHwungid 37 CF.60.
AL GFHe LFliLieney &F.05.15 60
a. 154 b. 148 c. 259 d. 111
The difference between the circumference and radius of a circle is 37 cm.
The area of the circle in sq. cm is
a. 154 b. 148 c. 259 d. 111

117. @ OF6alussHIH6 Horld, SiBeuld (pempBu 40 OF.15 oB@Ib 26 GF.10
BFOFAIUBHIHN LIbHMmIB66 enOWILIL|eTeMNEBemen (LpedBGUL  EeneuTlILISHTe0
gMUBLD FTUIFHITSHIHET LTLILIeTE)] F.05.15. G LD.

a. 1040 b. 2080 c. 260 d.’520
The length and breadth of a rectangle are 40 cm and 26 cm respectively.
The area of rhombus formed by joining the mid-points of the sides of the

rectangle in order is sq. cm.
a. 1040 b. 2080 c. 260 d. 520
118. %(%+gj:§+% SIpHHILaIBpsley @& 6lhdH LewiLbHE 6IHHHIHHTL(H?
a. UmISL (B LG b. simL6 L6
c. ufliomByl U6 d. sl Lew
g(§+ij=g+i is an example for which property?
S5\3 9) 3 45
a. Distributive b. Closure
c. Commutative d. Identity

119. @ @MIIILL eauamlbens o eten Casredsamen 2, 3, 4, 5 96Ve0gH 6
GuiiLb gwwre URSGL Curgkl @aIGeuTm (WBWD @ Gsmell LHLTHBS.
GuoBarent HLbHemerenw! Henmey Gguiub WFFm Csmelldeen ereumienlldbma
a. 41 b. 121 c. 61 d. 181

When a certain number of marbles are shared between 2, 3,4, 5 or 6
persons, each time one marble is remaining. The least possible number of
marbles that are shared is

a. 41 b. 121 c. 61 d. 181



120. @@ GEIUILL OxTensd 5 aumLmIS6eMe0 h. 6,800 SiEe b Gsud 3

121.

AUHLBIGH6M60 B. 6,080 oiFa|d (IpSHTe] DIHLHBGEHI. 61660 (PHeSH .
a. ep. 1,800 b. 5. 5,000 c. ep. 3,600 d. em. 720
A certain sum of money amounts to Rs. 6,800 in 5 years and Rs. 6,080 in 3

years respectively. The principal is
a. Rs. 1,800 b. Rs. 5,000 c. Rs. 3,600 d. Rs. 720

ugsd — V
EVS

ugly oBoId igeeil 106WIL 60&HSHe(HbHAHI Oleuerled@  alBUBLD DISSLILIQUITET
SHFHTHEMEN LIGEMIDE6V60 UTUHH6T HHHBMSH

a. UpeagT ST b. smorai

C. MDHBIT HIEMEVBH6IT d. amsdaniy sHirsel

Greenhouse gases prevent most of the outgoing radiation from the
surface and lower atmosphere from escaping into outer space

a. ultraviolet b. gamma

C. micro-wave d. infra = red

122. ®iTsHsH giewrenimibiler GeugliGLiwT

123.

a. smeodlwib smTuGert b. smeodwh oHmen(H

C. &TeLdAwId enamL JTdemer® d. sredflwb - enu-smTUGeHTL.

Chemical name of slaked lime is

a. Calcium carbonate b. Calcium oxide

c. Calcium hydroxide d. Calcium bicarbonate
auere_ulfestd eTeiTLIG)

a. SIMAHH AlVRIGHEDHD UETTHSHITHH0 E(HLILGS

b. maiha STaIImIBEHD, aleVRIGHEDHD AIBTHATHH EHLILG)

C. OIMAHH STOUJD BMILD STVRIGHT ST (HHBHOIOTH  GUETI(HHEL

d. QuBenawirer aumpal_SHed aumpHamigwl 6hg 2 ulflemmisenid

Wildlife means



a. all animals in wilderness

b. all plants and animals in wild

c. all plants and animals growing wildly
d. any living form in its natural habitat

124.  yglsashamgul uIBend L6eOLD

125.

a. H6MLDeusT b. wewred C. [B d. g erflOuTHeTHe6IT
An example of a renewable resource is
a. clay b. sand c. water d. fossil fuel

yalulesr @Gameir 9Ihdh@ OILoedHevlenmed BLBLD..&HenLD

a. yalugtdesr ggmem Geuliublenso LIQLILIQUITES 818 S TS0

b. eueflloewi v dled o 6o SHFMEET 6N (&HMMBIH60

C. 9IFB SleneuTerr LBeaHT HHTH6T Lalluder LFLDL SienL FH6D

d. swer uliUTEB LYLILYUITS 2 (HEGHEUST6D HL VBT DI LID 2 UIHH6eV
What is the harm from the depletion of Earth’s ozone layer?

a. The average temperature of earth’s surface will increase gradually
b. The oxygen content of the atmosphere will decrease

c. Increased amount of ultraviolet radiation will reach earth’s surface
d. Sea levels will rise.as the polar ice caps will gradually melt.

126. 103 SIFHHWOTH 2 66N LGMID E6060 6T

a. SHMTUET L  SiHamen® b. @@gmes

C. MBLIEN HLHemer(h d. enamt yegest
The most abundant greenhouse gas is

a. Carbon dioxide b. Ozone

c. Nitrous oxide d. Hydrogen

127. s ger yswpunm o ulflu W@ euerd

a. waremmt 2_uiflw wW@euend b. sipbsyeed
C. (LPGHIDEN6V d. GuflwmT
The most famous Bioreserve in Tamil Nadu is

a. Mannar Biosphere Reserve b. Sundarbans



c. Mudumalai d. Periyar

128. yalufled o siten OoTdhs BT Dlenaled, Hevieifler alpssTH

a. 3% b. 50% c.10% d. 0.5%
Of the total water available on earth. Only is fresh water
a. 3% b. 50% c. 10% d. 0.5%
129. sUODBTH s BFHman aibselled WLBBID &L L migseiled ;M IMIDESD
SLLme B (helTeng
a. woPnT Crafd@ld auFd b. GsmLi Weeupma (UPS)
C. GoiTargen eugs) d. anmser PpHHID o

The Government of Tamil Nadu has made it mandatory for all houses and
buildings in the state to install

a. rain water harvesting facility =~ b. UPS

c. air-conditioning facility d. parking facility

130. wyssleml, aleugmuwl alamemOUmHL SemeT OBBILD 616VkIF, g TeulhIg eI
aflliugTed o Wi M@ Ysasullemmed gBubLl alenere]
a. GeutF GHmenmpIsHe6i b. e umui®
C. UBmIGHTU d. ‘smuiFged
The smoke produced by burning of wood and agricultural by - products
and animals dung cake can cause

a. respiratory problems b. typhoid
C. cancer d. fever
131. 2 60&F FMBBIF GO0 6IGaTT LewI(HLD 60 OamewiLTL LIS BS
a. ageeur 12 b. sgeair 5 C. :mem 8 d. sgeeir 20
World Environment Day is celebrated on ______every year
a. 12th June b. 5th June c. 8th June d. 20t June

132.  oueMeRiL60HH & S DIbBHSG
a. eyl GLmerdLiwi b. GasmGomerdLiuwiT
¢. LGymiuBumerdLilwi d. ouwGemmerdiui



The lowermost layer of the atmosphere is
a. stratosphere b. thermosphere
c. troposphere d. ionosphere

133.  GeulbL] eT6dTLIG)

a. o ulfl o _gib b. smens0smeved
c. o_ iy FH0smeved d. yehews Osmeved
Neem is a

a. biofertilizer b. herbicide

c. biopesticide d. fungicide

134.  6veWTL 60T LIGCPL L $HHME SHMTTewid aueilloemi_e0HH60 o 6o SIFHSUILIQUITEDT

DLEH6E10MT (HSBEITGLD
a. eMbLyager b. geouf . amiuer . d. umerdLyerd
London smog was caused mainly due to excess of oxidesof _____in
atmosphere.
a. nitrogen b. sulphur c. carbon d. phosphorus

135. 2 eualGeoBu slIGLMuL  STBBEN6OLI  LicwTenenT E(HBHESGHLIL LD
a. seVBumfreflwim b. “end&msonha

c. @b d. OL&evamerd
The world’s largest wind farm is located in
a. California b. Scotland c. India d. Texas

136. FBBIFGHLD OBBID eueNTFF SETar MbHW BILG gl Ll 1992 60
IBUBSHSILLL FHI. DG eTelauTn DIMWSHSLILIGHBHI?
a. Guged gl LewiDliy b. 6UGWIL 65T Gnl L emiDlIL]
c. CAMBA d. yal o2 &4 wIBEIH
United Nations Conference on Environment and Development held in
1992 is informally known as
a. Basel Convention b. London Convention
c. CAMBA d. Earth Summit



137.

138.

139.

140.

141.

Bxpdlw eueidbosTeTensuler (WoHHlw Camiun®
a. BT euemUTHIBTLIL b. wymisemen LTHIHTSHHE0
C. GBBIFGHIE FLOBEM6EL d. weweuer LTHIHTIIL]
The principal aim of the National Forest Policy is to ensure
a. Conservation of water b. Conservation of trees
c. Ecological stability d. Conservation of soil
L0ewT(HLD LOJHSHETBIHENGT [HL MOV, LOJHIGMET Gleul (Heug
a. sThHmT P& FH60 9. STHHEMET 2 (HEUTEEHFH60
C. HTHBHEMET 6U6ITTSHHED d. smaymzev
Cutting of trees without planting new trees in return is known as
a. deforestation b. aforestation
c. growth of forest d. fertilization
@ 2 uwfl e wrdbslemLula WEHT evevd Henguler LEHT GLogleuTs
Ogevaid Gumrgl LIy HIBHMSL OUBISIBSH. Eeijui
a. ueved b. Qeul (e
C. LDGWTL(LD d. &Bamhg)
An organism which turns brown when it moves slowly on a bark or on the
ground is
a. an ordinary lizard b. a grasshopper
c. an earthworm d. a chameleon
G GeuBpslL. LILABEHHEG UHeoTd Densll UweLBHHleme0 40ep L6

aBmemev BFLildseuTiD

a. &flw gef b. feisevld

c. Qami Weneupmia (UPS) d. e aleeg

By using _ instead of bulbs, we can save up to 40 per cent of
electricity.

a. Sunlight b. Battery c. UPS d. Tubelights

ysw eumuibs Sregwanmeller Oumedeuter CHTBMID GmBhHHHBESHSH STT6wILD
a. @Gamel SILTeY &HMmMBH6L b. 960 wenip



C. 2 & OlEUILILDUILDTEED d. s1Gasmen SiflHzHe0
Reduction in the brightness of the famous Taj Mahal is due to the
a. Ozone depletion b. Acid rain

c. Global warming d. Deforestation

142.  wempT CafeHmped DeudlwoTesdBE STyemnib
a. @albeurmh SLEWIGLD LMPHT DIFH BT EHH0
b. yalugly BBID BHeSSHYBT WL GMBH6eV
C. Sl LBBID SLBEBIBT UL (&HMBEHED
d. BT SiHE Senaled efenTsed
The need for rain water harvesting is because of
a. excess of rain water every year
b. decrease in surface and ground water level
c. decrease in dam and river water
d. excess wastage of rain water

143.  ShéHeniLaBBIeT aaialevmE DIPSHISEG Fllwimer STyemib
a. 9Fswrs Guiged b. Qumbems GuilLi
c. aumpailLb FHengHHe0 d. agmisd
Which one of the following is the most appropriate reason for wildlife
extinction?
a. Overgrazing b. Natural calamities
c. Habitat destruction d. Mining

144. peodfl ST OIS LUTSHISTHSLILBD G LD

p

SLENGITIDEN6EV  UGTAT60MIE  FJ6U0TTEVLILD

o)

HeNHHMT(H UTAIGVRIE GFJemITeOUILD

(W&Iomev euere_ullfl Fyewrmeowid

a n

. @haITHTHS eueie _ullfl Frewimeould
Nilgiri Thar is conserved in

a. Anaimalai Wildlife Sanctuary

b. Kalakkadu Wildlife Sanctuary

c. Mudumalai Wildlife Sanctuary



d. Indira Gandhi Wildlife Sanctuary
145. @swsHmS Fmpluleien Tewil (Hb@ UL 6VLD
a. Lierpym b. Gufismmguib c. ewuwmGuol L d. GuyyrGor LT
The heart is covered by a protective double walled sac called
a. Pleura b. Pericardium c. Piamater d. Duramater

146. FHemio allenenaldbsdHanigul S| H6MEIT0 SFBBIFEHL0 DISHSLD
LT SSUILIBHEUSHBHTET  SHIT[J6001
a. &MBH T&LBHHE0 b. Bevdslg BT OTHUGSH6EO
C. Mooty eusbATOiy D sfHaHe0 d. aumpaiLib FensHsHze0
The most serious environmental effect posed by hazardous wastes is
a. air pollution b. contamination of ground water
c. increase use of land for landfills d. distruction of habitat

147. @bgHwraled e Gurewrs GeueTendHHTe0 LITSHISSILLL  LOTH60D

a. 2 535 UyGsab b. dsnit

C. FHODPBTH d. subdly IO

In India is considered to be amongst the worst flood hit states of
the country

a. Uttar Pradesh b. Bihar

c. Tamil nadu d. Andhra Pradesh

148. o 608 Slenaled W&  DHH0OTEH STewilILBD Guirdeyser

a. enfoened GleugriL| b. yif oA

c. mevFgflay d. GeuetemIOLIHGBG
Globally, the most prominent disasters are

a. Volcanoes b. Earthquakes

c. Landslides d. Floods

149. sWe] GUmU GQUTIHL Sen6T SHMD, HEFHHDHEIENIOUGT6N, L GLW LOBM®ID
BIGEBEF CFUIWLSIQU BTaIGameWTS Lflébseord. euBmien 61g S
a6y GLmUDEG IHHHHSHTLLMGLD?

a. Uenmerdigds  emLIGH6IT b. sewienig

c. 2 Geourasid d. smrusn sfey



Garbage can be put under four categories - organic, toxic, soiled and
recyclable. Of these example for organic type is.

a. plastic bags b. glass

c. metal d. vegetable peels

150. mlevphesssHFHer CuTh CEFUILSLTHSH 61517
a. GG &P ursisTiy BCxhBH60
b. Faieeosmen all (b GHTmeval el (HdhdH6e0
C. @6albal LMBHEH CHT6TEHHED
d. geusgons GeuefGuimisheo
What is not recommended during an earthquake?
a. Take shelter b. Stay away from windows
c. To hide d. Run outside





